
1.	 Ensure the feeder crossbar is aligned above one of the trough 
divider bars. If the crossbar is not positioned appropriately, remove 
and relocate to the position outlined below. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2.	 Attach the fenceline adapter to the trough divider bar aligned below 
the crossbar. Do this by twisting the U-shaped horseshoe around 
the base of the divider bar. See the diagram below.

3.	 Secure the fenceline adapter by gently pushing to top of the fence-
line adapter toward the center of the feeder. Align the hole in the 
top of the fenceline adapter with the hole provided in the crossbar.

NOTE: Some older feeders may not have a hole provided in the 
crossbar for mounting fenceline adapters. Ensure the adapter is square 
and plumb and drill a 3/8-in. diameter hole into the crossbar using the 
adapter as a guide.

4.	 Attach the top of the fenceline adapter to the crossbar using the 
5/16 x 7/8-in. bolt and 5/16-in. flange nut provided. Repeat these 
steps for the other fenceline adapter. 

 
 
 
 
 
 
 

 
 

5.	 Place the feeder in the fenceline between two properly spaced 
posts or other immobile objects. Attach the adapters to the fence-
line using the holes provided.

Bump bar 
agitator

UNPACKING
Upon receiving your shipment, check the cartons for in transit handling damage. ALERT 
THE DELIVERING CARRIER IMMEDIATELY if damage is discovered. Continue unpacking 
only after the carrier has acknowledged the damage and potential loss of contents.

NOTICE
All loss or damage in transit is the responsibility of the delivering carrier, NOT OSBORNE 
INDUSTRIES. To protect your rights in the event of damage or loss, sign the delivery 
waybill only after the carrier has acknowledged in writing that damage or loss has 
occurred. In the event that damage is revealed only after unpacking is complete, notify 
the delivering carrier immediately and request an inspection of the damaged merchandise 
before proceeding.

Locate the Inspection List and retain this with the waybill. Identify all parts with the 
Parts List as they are unpacked and compare with the Inspection List. Once all parts 
have been identified, inspected for freight damage, and counted, proceed to assembly.

FENCELINE ADAPTER
Assembly Instructions

RN3 & RN4 SERIES

RLX-0548_G

Part Numbers: FF-00RN3A, FF-RN4A, RR-0RN3AS, FF-0RN4AS, FF-00RN3AGBig Wheel® Hog Feeders

Each fenceline adapter kit includes:

A.	 One (1) fenceline adapter frame

B.	 Bolt Kit

A

B

ASSEMBLY INSTRUCTIONS

BOLT
BAG

Trough 
divider bar

Crossbar

DO NOT: Fasten fence panels directly to the feeder. 
DO NOT: Use the feeder as a support or anchor for other objects. 
DO NOT: Allow feeder to run empty. Empty feeders without floor anchors may become light enough pigs could cause damage to feeder.

Trough 
divider bar

U-shaped 
horseshoe

Fenceline
adapter

Align these 
holes



PARTS LIST

Included in this shipment is one style of Fenceline Adapter and one 
style of bolt kit.

Painted Steel Fenceline Adapter Parts List

Part No. Description Qty.

FF-00RN3A RN3 fenceline adapter 1

FF-00RN4A RN4 fenceline adapter 1

Stainless Steel Fenceline Adapter Parts List

FF-0RN3AS RN3 fenceline adapter 1

FF-0RN4AS RN4 fenceline adapter 1

Galvanized Steel Fenceline Adapter Parts List

FF-00RN3AG RN3 fenceline adapter 1

Standard Fenceline Adapter Fasteners (Models RN3 & RN4)

KF-N3A002 Bolt Kit - Includes fasteners below. 1

RFB-2050 5/16 x 7/8-in. bolt 1

RFN-2300 5/16-in. flange wiz nut 1

Stainless Steel Fenceline Adapter Fasteners (Models RN3 & RN4)

KF-N3AS02 SS Bolt Kit - Includes fasteners below. 1

RFB-2061 5/16 x 1-in. bolt, SS 1

RFN-2301 5/16-in. flange wiz nut, SS 1

P.O. Box 388 • Osborne, KS 67473 U.S.A.
Phone: 1-800-255-0316 • Fax: 1-785-346-2194

sales@osborne-ind.com • www.osbornelivestockequipment.com

Printed in the U.S.A.


